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1 |ER &EA 42 49 91 22.8 68. 2 101 (883 =HRE 45 45 90 14. 4 75.6 201 (BH FHHt 59 54 113 33.6 79. 4
2 | K¥E RE 38 | 42 80 10. 8 69. 2 102 (Al BHA 44 | 46 90 14. 4 75.6 202 )M =8 52 42 94 14. 4 79.6
3 |F%F: BEX 49 40 89 19.2 69. 8 103 | E1T 46 44 90 14. 4 715.6 203 (LR RE 53 47 100 20.4 79.6
4 |FHE B 42 38 80 9.6 70. 4 104 (Fatl 45 45 90 14. 4 75.6 204 |FEKE fBF 51 49 100 20.4 79.6
N PUE = 41 39 80 9.6 70.4 105 |EH #E 47 49 96 20. 4 715.6 205 |ILE #088 60 52 112 32.4 79.6
6 | 1FC 46 39 85 14. 4 70.6 106 |B&%E BA 49 47 96 20.4 75.6 206 |2 =HME 52 47 99 19.2 79.8
1 |8 &8 44 | 41 85 14. 4 70.6 107 | KB ¥EE 51 45 96 20.4 75.6 207 (dedt S 55 56 111 31.2 79.8
8 |FFF BRE 39 38 11 6.0 71.0 108 (EEHR 158 44 39 83 1.2 75.8 208 |#M0F  FE 49 49 98 18.0 80.0
9 |[fHF & 41 39 80 8.4 71.6 109 [AR4E 45 44 89 13.2 75.8 209 (ARE {E— 49 49 98 18.0 80.0
10 |5 BB 45 41 86 14. 4 71.6 110 |18 ®— 4] 48 95 19.2 75.8 210 [&F B 51/ 53 110 30.0 80.0
11 |8 & 45 41 86 14. 4 71.6 1M |5 EAF 46 49 95 19.2 75.8 211 (£ ES 58 58 116 36.0 80.0
12 (461 & 45 41 86 14. 4 71.6 112 |BA BE 51 50 107 31.2 75.8 212 (TR =8 60 60 120 40.0 80.0
13 |[f8E 2 40 39 79 1.2 71.8 113 4% %= 54 | 53 107 31.2 75.8 213 |#/80 E— 45 46 91 10. 8 80. 2
14 |XiE IE# 41 38 79 1.2 71.8 114 K8 B 44 | 44 88 12.0 76.0 214 |[#@B & 50 | 47 97 16.8 80. 2
15 [de+t 4E—EBH 42 43 85 13.2 71.8 115 [K&%x #BX 48 46 94 18.0 76.0 215 |ZH & 54 | 43 97 16.8 80. 2
16 |ZRN  fHEL 44 41 85 13.2 71.8 116 | L% =EF 52 54 106 30.0 76.0 216 (Il B 54 | 49 103 22.8 80.2
17 |Mfr FRKF 42 | 43 85 13.2 71.8 AV = | 58 48 106 30.0 76.0 217 |BEAR B 57 46 103 22.8 80. 2
18 |[dLE & 37 41 18 6.0 72.0 118 |FEKRK Ei& 59 51 116 40.0 76.0 218 [ AT 54 | 49 103 22.8 80.2
19 R = 40 38 78 6.0 72.0 119 |FHFA X 45 48 93 16. 8 16.2 219 (JI[38 BAEE 55 59 114 33.6 80.4
20 | Kf8  #AAR 44 40 84 12.0 712.0 120 [fy EZ 46 47 93 16. 8 76.2 220 |EH EF 63 51 114 33.6 80.4
21 |HufE = 40 | 44 84 12.0 72.0 121 |5 &=#& 48 51 99 22.8 76. 2 221 [BRA  #RFEX 57 56 113 32. 4 80.6
22 iIB FI\BB 42 41 83 10. 8 12.2 122 |H*/ 0 FT 47 52 99 22.8 76. 2 222 |[&H 2 48 46 94 13.2 80.8
23 | E%F  #EA 47 48 95 22.8 12.2 123 (L& B 54 | 51 105 28.8 76.2 223 (% =X 55 45 100 19.2 80.8
24 L FIE 47 47 94 21.6 12. 4 124 = fEX 46 40 86 9.6 76. 4 224 |\RRER F 58 54 112 31.2 80.8
25 | Xk I 42 39 81 8.4 712.6 125 [KJ§ A 44 | 42 86 9.6 76. 4 225 |’ H RE 57 55 112 31.2 80.8
26 |&H K 41 40 81 8.4 712.6 126 |;thim HF 44 | 42 86 9.6 76. 4 226 (de)il = 49 44 93 12.0 81.0
21 |BE BR 42 45 87 14. 4 12.6 127 | =%t Z9E 47 45 92 15.6 76. 4 227 |{8E B 46 59 105 24.0 81.0
28 |#E)Il FnEB 44 42 86 13.2 712.8 128 | ¥ %0F 48 44 92 15.6 76.4 228 |&% B®| 62 49 111 30.0 81.0
29 |{kE R 46 40 86 13.2 712.8 129 |4 FHRF 53 51 104 27.6 76. 4 229 (&Ll =2 62 59 121 40.0 81.0
30 |Z£H M DOF 47 45 92 19.2 72.8 130 |HE BA 52 64 116 39.6 76. 4 230 [BEiE =EH 50 48 98 16. 8 81.2
31 |k BAHxX 51 46 97 24.0 73.0 131 |2 HE 45 46 91 14. 4 76.6 231 |fEHE {EF0 49 49 98 16.8 81.2
32 |#E  B5F 43 40 83 9.6 73. 4 132 lLg  FN5 53 44 97 20.4 76.6 232 |4t =1E 54 | 50 104 22.8 81.2
3B 1BKRK BB 4 42 83 9.6 13. 4 133 [([H =RIL 50 | 47 97 20.4 76.6 233 |F1y  HFE 54 | 56 110 28.8 81.2
34 |ILAK #FxX 4 42 83 9.6 713. 4 134 (#B IEE 49 47 96 19.2 76.8 234 |EE RKF 53 50 103 21.6 81.4
35 |12 A 44 39 83 9.6 13.4 135 (ALl 3XZE 4] 49 96 19.2 76.8 235 |5 ®EEX 54 b5 109 27.6 81.4
36 |#&H EXE 50 51 101 27.6 13. 4 136 (B EA 43 46 89 12.0 71.0 236 |BiE BSF 65 50 115 33.6 81.4
37 |"hE  FHKER 53 48 101 27.6 73. 4 137 |EH I1EBH 51 44 95 18.0 77.0 237 |BK B 57 57 114 32. 4 81.6
38 [l #E 54 53 107 33.6 713. 4 138 | K2 &F 53 48 101 24.0 77.0 238 [IUKX £%F 49 52 101 19.2 81.8
39 |/hNFE  Eii 41 35 76 2.4 73.6 139 (eIl FOkg# 51 50 101 24.0 77.0 239 (FEiA] S\HR 59 54 113 31.2 81.8
40 |FA_ Fsh 46 42 88 14. 4 13.6 140 (¥ EALC 52 49 101 24.0 711.0 240 |BRAR {E# 46 54 100 18.0 82.0
M |EHE EHE 43 45 88 14. 4 713.6 141 ()1l FRE 57 50 107 30.0 77.0 241 (NIl FFK 55 51 106 24.0 82.0
42 |& FO1T 4 4] 88 14. 4 713.6 142 (fE2K & 46 42 88 10.8 11.2 242 185K EF 61 56 117 34.8 82.2
43 iy 1RER 45 43 88 14. 4 713.6 143 (f0B BExX 46 42 88 10. 8 11.2 243 |&%F ERER 61 49 110 27.6 82.4
44 I8 B 45 43 88 14. 4 73.6 144 ;A EX 45 49 94 16. 8 11.2 244 |\ KA # 53 50 103 20. 4 82.6
45 |FH B8E 53 47 100 26.4 73.6 145 [de+t & 47 47 94 16.8 11.2 245 |HA HEEF 56 53 109 26.4 82.6
46 (lUT =7 52 48 100 26. 4 73.6 146 |ILA EmH 51 43 94 16.8 11.2 246 (FEH EF 59 62 121 38. 4 82.6
A7 (B B 46 54 100 26.4 713.6 147 (FHE ABE 52 48 100 22.8 11.2 247 |FIR  BA— 53 49 102 19.2 82.8
48 |FF TEX 56 | 44 100 26.4 713.6 148 |&<B —If 48 52 100 22.8 11.2 248 |FEk EEK 50 45 95 12.0 83.0
49 (@)l & 51 42 93 19.2 73.8 149 |RA K— 53 4] 100 22.8 11.2 249 [ZI] Rt 53 47 100 16.8 83.2
50 [fEEH %08 49 44 93 19.2 713.8 150 [&F@ BAA 49 50 99 21.6 11. 4 250 [s B=E 58 52 110 26.4 83.6
51 [ KH AH 59 52 111 37.2 73.8 151 |[§8F VR 57 54 111 33.6 77.4 251 |=E  RER 60 54 114 30.0 84.0
52 |MH Eth 55 56 111 37.2 73.8 152 |RE &F 60 57 117 39.6 11.4 252 [thEH 2 65 59 124 40.0 84.0
53 [ARER BEAER 42 38 80 6.0 74.0 153 |Efr BB 42 44 86 8.4 77.6 253 |IFH = 60 58 118 33.6 84.4
54 {7k EAB 51 47 98 24.0 74.0 154 (R B= 45 47 92 14. 4 11.6 254 1£%F =FF 62 62 124 39.6 84.4
55 |AlL =— 49 49 98 24.0 74.0 155 |=8 & 47 45 92 14. 4 77.6 255 |HIB 1EE 45 52 97 12.0 85.0
56 [#AH 18 47 44 91 16.8 14.2 156 [{Fi& T 48 44 92 14. 4 11.6 256 /AR RBAT b5 60 115 30.0 85.0
57 |&h&% I1ER 49 42 91 16.8 14.2 157 |He ZEih 47 45 92 14. 4 717.6 257 IRA B 63 62 125 40.0 85.0
58 |hiE I 49 48 97 22.8 14.2 158 |#flL &3 50 48 98 20.4 11.6 258 (ftE  FIEX 58 b5 113 21.6 85.4
59 |&H)II A% 52 45 97 22.8 14.2 159 |F%F FRAE 52 46 98 20.4 77.6 259 (BEX BEZE 60 59 119 33.6 85.4
60 | Tk & 47 50 97 22.8 14.2 160 [de)Il Bk 50 [ 48 98 20.4 77.6 260 |54 A 52 54 106 20. 4 85.6
61 [lLO Za 40 | 44 84 9.6 74. 4 161 [;2 X 51 47 98 20.4 17.6 261 B[R % 60 63 123 36.0 87.0
62 |JII&T ZER 44 | 40 84 9.6 74. 4 162 (b4t HREE 52 52 104 26.4 77.6 262 |FGRY &k 66 61 127 40.0 87.0
63 [ITE I1IEE 43 41 84 9.6 74. 4 163 [+ #bih 54 [ 50 104 26.4 11.6 263 |FAEH &3k 68 59 121 40.0 87.0
64 |EH I 44 46 90 15.6 74. 4 164 (A T 62 54 116 38.4 77.6 264 |#H HOF 58 52 110 22.8 87.2
65 |FE = 46 | 44 90 15.6 14. 4 165 |#AE E& 44 | 41 85 1.2 11.8 265 (HE BE 6/ 64 131 40.0 91.0
66 |FEH R 49 47 96 21.6 74. 4 166 | A% ER 49 42 91 13.2 717.8 266 |ER§ ZxX 68 66 134 40.0 94.0
67 (lLA F&E 40 37 71 2.4 74.6 167 (#FH@A #F0Xx 49 47 96 18.0 78.0
68 | Az Bh 45 44 89 14. 4 74.6 168 |HJIl IEF 52 44 96 18.0 78.0
69 |#EH EEf 45 44 89 14. 4 74.6 169 |/ HE 49 40 89 10. 8 78.2
10 |f0@ #FESE 48 | 47 95 20.4 14.6 170 [/ i BE 48 4] 95 16.8 18.2
71 (80 i 50 51 101 26.4 74. 6 171 (5@ & 48 47 95 16.8 78.2
12 |Ihk2 % 50 51 101 26.4 74.6 172 | E# & 49 46 95 16.8 18.2
13 |8K EB 43 45 88 13.2 74.8 173 [Bv#d X 47 48 95 16.8 78.2
74 |BH 2 44 44 88 13.2 74.8 174 &k &= 50 51 101 22.8 18. 2
5| KEE == 47 41 88 13.2 74.8 175 [FEH —8 55 52 107 28.8 78.2
76 |MiE & 50 | 44 94 19.2 74.8 176 [+ 8% 44 44 88 9.6 78. 4
17 |88 i 48 46 94 19.2 74.8 177 (teEA HEF 49 45 94 15.6 78. 4
18 |BRE EA 52 42 94 19.2 74.8 178 (% =& 50 50 100 21.6 78. 4
19 BB BxX 56 50 106 31.2 74.8 179 (g =+ 51 55 106 21.6 18. 4
80 |8% 1& 51 49 106 31.2 74.8 180 [§% #2Xk 53 46 99 20.4 78.6
81 |EEH FIH 49 44 93 18.0 75.0 181 |Z[R FHEF 49 50 99 20. 4 78. 6
82 | KAKR &F 48 | 45 93 18.0 75.0 182 |H*LE 1E& 53 46 99 20.4 78.6
83 |mAEr & 49 50 99 24.0 75.0 183 |HLE Xk 52 53 105 26.4 78.6
84 |ARER = 49 50 99 24.0 75.0 184 [EF EBEHE 52 53 105 26.4 78.6
85 |IUFx ERk 42 38 80 4.8 75.2 185 |k =EE 52 53 105 26.4 78.6
86 |20 B 43 43 86 10. 8 75.2 186 (5% =X b5 56 111 32.4 78.6
87 |&1u F— 48 44 92 16.8 75.2 187 | EH = 42 50 92 13.2 78.8
88 |f8H ==1E 50 42 92 16.8 75.2 188 (¥ H=E 53 51 104 25.2 78.8
89 |IkO = 48 50 98 22.8 75.2 189 (KA &7 61 49 110 31.2 78.8
0 |[FH %= 52 58 110 34. 8 15.2 190 |/FE #2E8 58 58 116 31.2 78.8
N MR FEF 57 53 110 34.8 75.2 191 (FE H1T 62 54 116 31.2 78.8
92 |FH #x 45 40 85 9.6 75. 4 192 1Bl = 48 49 97 18.0 79.0
93 |E #4&E 42 43 85 9.6 75. 4 193 |#& +Ltt#& 53 50 103 24.0 79.0
94 | AR BX 41 50 91 15.6 75. 4 194 {FR &= 53 50 103 24.0 79.0
95 (K &R 46 45 91 15.6 75. 4 195 |&EXK & 4] 49 96 16.8 79.2
96 |MFT EfE 47 44 91 15.6 75. 4 196 A+t &= 49 47 96 16.8 79.2
97 | K2 =17 48 49 97 21.6 75.4 197 (8K BEF 46 56 102 22.8 79.2
98 |=® B 43 54 97 21.6 75. 4 198 |&K EX 49 59 108 28.8 79.2
9 |BH BE 55 48 103 27.6 75. 4 199 (4t 18s= 52 49 101 21.6 79. 4
100 [JIF E— 50 53 103 21.6 75. 4 200 |EH & 50 [ 57 107 21.6 79. 4
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